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Time Allowed : 20 Minutes SSC (Part-1i) @ 200 =
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Note : Four possible choices A,B,C,D to each question are given: M\ich choice is correct , fill that circle infront of that question
number. Use marker or pento fill the circles. Cutting or ﬂlﬁngﬁi\% or more circles will result in zero mark in that question.
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An equation which remains unchanged when " x * is replaced by l is called : (1)
. Reciprocal Equation =l g™ (B) Exponential Equation al;vét&:’; (A)
i Quadratic Equation =hl<f. » (D) Radical Equation ez ()

i u]ujuf.ax2+bx+c-0 .pbk/?:r.:«dfd"rnl b2 -dac>0 )

If bz-shc > 0 but not a perfect square , then roots of axz + bx + ¢ = 0 are
Equal , Real (? « £kt (D} Irrational ;?I:/! (C) Rational ;j't {B) Not Real J‘?/,' (A)
Cube Roots of "-1" are " : D el a1 (3)
i 1,-w,-w2 D) -1,-w, w2 < -1, w,-w2 (B) —1,-w',-w2 (A)
If %-% , then Componendo Property is : . ..:_.:JJ; St In %h% S @
a - a ¢ ad a-b - d
_ S i ™ rrEr 0 3 ® 25w
If —‘j--% =k ,then : P] — e =k Jil ()
u=v?K (D) u=wk (O u=vk® (B) u=wk® ()
x + 2 % x + 2
i Partial Fractions of ——————— are of the form = : : pdu(" we oz f ——5—— ¢ (6)
(x +1)(x2 +2) B = J(xﬂ)(xz*z)
A Bx Ax+ B C A Bx+C A B
D + C + B + A
x+1+x2+2{) x+1 x2+2{)x+1 X2+ 2 [)X+1 X2 + 2 )

’The different number of ways to describe a set are : Py g u:é)..ﬁf.i.ful.‘ s L1 (7)
4 (D) 3 (@ 2 (B 1 (A
‘The relation {(1,2),(2,3),(3,3),(3,4)} 1s :ebulldine {(1,2), (2,3),(3,3),(3,4)} & (8)

Into Function S (B) Onto Function ST (A)
One One Function q_d“lﬁu: - s (D) Not a Function q..ut".d‘ur' (C)
‘ A Data in the form of Frequency Distribution is called : : c_t'Uff sty \.ﬁu"d’ rf‘%,ﬂ" 9
 Frequency Polygon L 2 (D) Histogram JJ ¥ {C) Ungrouped Data :w,),’-f (B) Grouped Data :i.r‘ui:f (A)
L Radian =— : 0 @ 1° © 1B B 15 (@ e = gt 2R (10)
1 (D) 0 (C) tan® (B) -1 (A) :  Cosec’® - Cot’® = (11) ;

b = ——-—g}'L;/(MJlth:f Ll o (12)
|iThe right bisector of the chord of a circle always passes through the -——

Diameter & (D) Centre // (C) Circumference b# (B) Radius (/I (A)
U unSP 48 n AL LPw L (13)
A linc which has only two points in common with a circle is called

Cosine of a Circle Cosine ¥ < 71> (B) Tangent of a Circle Tangent ¥ < ) (A)
i S_ecant of a Circle Secant ¥ <./ (D) Sine of a Circle Sine ¥ o b (Q)
_ st el S Ll Ui SS Sd 0 oSy L (19)

iThe Arcs opposite to incongruent central angles of a circle are always -——- :
Perpendicular »f (D) Parallel 17 (Q) Incongruent J‘ =4 (B) Congruent J‘L?‘ (A)
_ Angle Inscribed in a Semi Circle is :

~ ~ ~

et it e suiad | (15)
(A)
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(2014-2016) to (2017-19) &, eejsS ! SS.C(Part-1m) | 113 -/4)"@ A
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SR G Feli2 L 70 (66 JEdon e 2 4013, 2 2y €=l
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Note : It is compulsory to attempt ( 6—~6) parts each from .No.2,3and 4. Attempt any (03) questions from PartI1
while Q.No.9 js compulsory, Write same Question No. and its Part No. as given in the question paper,

€

s —

Solve. _ (zx . _;. )2 4 _:; LA O 25N
Defiue. Exponential Equation, -a.[):.?ﬂ d’ ..-.-IJLJJV'.:.; (ii)
Evaluate. (2+2w- 2w?)(3. 3w + Iw?) s d i :
Write Quadratic Equation having roots 0, -3 . ..u:'cr O T dbg}u 0,-3 (iv) E
_g{/?)”t—fur .1(‘.,. B .?u.r:uj.u[. x4 PX+q =0 &pl. B, oSl ) :
F L 5.} |
If o, B are the roots of the equation x” + px + q = 0, then evaluate -=* , —;c f
Evaluate W 13 +w 7 ’ ..q);‘:b’:_f (vi) E
Find a Third Proportionai to ; a> ;A L (vii) ;
_u_‘fr)"‘&f(f "x -q.-_-vl’?g}’yut &,x ,18 (vii) :
Find the value of » x » in the continued Proportion 8,x ,18 Df
Define Inverse Variation, -;{/_&'f? J JJ"‘; (ix) ﬁ
Define Rational Fraction, : -4..5'}7 J S 0] SHJ]"E
Define a Subset and 8ive one example. &5 é_g:._iy‘" S erid (ii) '

U BoA s A-B 74 - {13,579}, - {1,4,7,10} s

|
i
|
¥ A={1,3,57,9} p - {16710} then tma 4 . B and B - 4, f
i

Find 2 and b i . (3-22, b-1) « (427,245 A& b ia )
Write all the Subsets of the et {a,.b}. i % P {a,b}or v)
Define Arithmatic Mean, -.*_4/..1_1/' g .MIL}P (vi)
Find Geometric Mean of the Observations 2,4,8, & L &l 2,4,8 i o)
Define Harmonic Mean, _ -Ef»:g/" g Jwi..ﬂTfl' (vil)
Define Measure of Dispersion, _g_g,; g KA (ix) !
Express 225° Angle into Radjan, -é:.’?.:q&f o 225° 0 4
Find © when I=2em, r=3,5cm : I-zf,us-sr' ﬁéﬁ;ﬁe(m
Define Obtuse Ang!e. , -Lg/.._.y,"" J =1 25 (iij)

S 28 m R Vs ¥ s Je ‘;—Jlfl-fc"'-};- il (iv)

Define Area of Circle. What is the area of Circle when R is the Radius of Circle?

What is meant by Length of a Tangent ? ; fe sl J[po’ifu'[/ L ol v)
Define Circumference of a Circle, Sl &2 L 11y (vi)
Define C'ircumanglg. ..a,{/':.é/; J 23 2 (vil)
Define Inscribed Circle, &P et (vid) [

Define Polygon. ' _ : -@C&/‘I{ Cuen 2 (ix)

b,
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“L.K.NO. 113 !( Part Il ) r-;:.»E Q@V/)’@»—-'/O-" /S
x +1

(4) Solve by Factorization. Y SR 5 -J Sru ; 93 () 54y
x x+1 12 & i
(4) e ¥ x3 -28x + 48 = 0 =hbl-"2" su /(I g{fg&(}.ﬂé (-,—)

Solve by using Synthetic Division if " 2 " is the root of the equation '

X3 28x + 48 = 0
0 T f Yx+3 +{x-3 o & ehral e JE Lo (G 64
Jx +3 = Jx- 3 3

Using Theorem of Componendo - Dividendo solve the equation

yx + 3 +\ix-3 _ 4
-Jx-3 3

Ix + 7

x+3

(4) Resolve into Partial Fractions.

-Q‘/‘vﬁ‘{: U ez ()

(x*+ 1) (x +3)

uU={1,2,3,4,5,6,7,8,9,10 } , A={1,3,5,7,9} B ={2,3,5,7} /i (0 7w
Au¥ S et

if U={1,2,3,4,5,6,7,8,9,10 } , A={1,3,5,7,9}, B = {2,3,5,7}

]

s
(4) (ANB)

” r /
then prove that (ANB) = AUB

(@) -e}?ﬁ‘ e its J/,J'u/g)"butu"g;ﬁuf!“..jtbg ()

The Marks of Six Students in Mathematics are as follows. Determine Variance.

AISU* I /StudentsNo.] 1] 2 | 3] 4| 5 | 6

i/ Ve / Marks 60| 70 | 30| 90 | 80 | 42

(4) Verify that  (tan® + Cot® )(Cos© + Sin@) = Sec® + Cosec® i é‘,‘i‘z’_.&ﬂ‘- () 84 1
() Leberto ¥ S £S5l 4 £ 3RS LWL sl Hizts L (L)

Inscribe a circle with regard to a right angle triangle with sides 3 cm, 4 cm

and 5cm.
® et o 4 5 Call e S .57{.:/.9 941y
Prove that Perpendicular from the Centre of a Circle on a Chord bisects it.

OrR
-u_;z.ruu(?l,u:rgbgt oy o Ll 2l S ::,{cf.b

Prove that Any two angles in the same segment of a circle are equal.

.
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Time Allowed : 20 Minutes SSC (Part-1l) e 200 )

Maximum Marks : 15 Session (2014.-16 ) to (2017 -19) 15 ASf
L e LA fb.pb"dIl-«f...,.li..-r;muﬁuube:é:&.bﬁdtr/{géb’dl.ﬁ_u"éfé.: D,C,B,Aciizbl iy 1 g 5
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Note : Four possible choices A,B,C,D to each question are glven. Which choice s correct, fill that circle Infront of that question !
r number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark In that question, !
' }
{ The number of methods to solve a Quadratic Equation are : u_!'é)Zﬁa..fJ’ I atdaln 14| ;
4 O 3 © 2 (B 1 (& @

The Discriminant of the equation ol +bx+c=01s : : e tn w3} ¥ ax® + bx + ¢ =0 =bir (2)

~b*-dac (D) -b +dac (C) b2 +4dac (B) b>-dac (A)
S - ] s
ULl ax" +bx+c= 0 abledt b“-gac<0 J1. (3)

If bz-- dac < 0 , then the Roots of equation a2 +bx+c =0 are
Discriminant 130} (D) Imaginary (57 (C) Rational (Pt (B) Irrational (Pt (A)

|}
In a Ratio a:b " a" is called : :q..t'llf"a"u:a:b_-ffjg (4) :
“ . s " o : i
None of these déf (D) Consequent (~ U (C) Antecedent ﬂmk: (B) Relation dg (A) ! ]
A third proportional of x* and y2 is i - _‘__,‘.;Fﬁ:(YZ l x2' (5)
4 2
y y 2.2 ¥
L — B A
7z © 7 © Xy ® T @
[ g e . : e
—————— is a —— fraction : ; — = (9
I (x+1)(x-1) * &/ - J(x-l-lj{x-l)
An Equation =bl+ (B) An Improper Fraction /_'—?.Lq/_f (A)
.': Discriminant uﬁ/;j/ (D) A Proper Fraction /..;).i; (C) ;
::If A< B then A-B is equal to : . ?_bx,gl,gA-B },1353 fl {7} ’
: Z (O B-A (© B (B) A (A)

: P eth 2r Q. { la,bé z/\b;l:[)} 8)
A Set Q= { ‘a bezAh:}&o}ls:alledaSetuf

 Rational Numbers ;L&U"I: (D) Irrational Numbers ;ix!ubt/_f (C) Natural Numbers )UFIJJ:’ (B) Whole Numbers :I.wfg)‘f (A)

‘A Cumulative Frequency Table is also called : P 1" Y P T 9 % ¢ 9)
 Rectangle .JJ"’ (D) Less than Cumulative Frequency Distribution "-f du;J:f}f (C) Data s1»* (B) Frequency Distrlhuuon(ﬂfm"(&\]
S tanze D) 1+ C0529 ) 1 + tanze B) 1~ Sinze A) - Secze SR (10) l'
i Convertion of 135% into Radian is ' U:J Lol f 135° :"U" (11)
; 7 5T 5K 3R

7 O = O T ® T @

et e un y Eitt e B 2 s ¥ WEPUL G (12)

Locus of a point in a plane equidistant from a fixed point is called
: Diameter A (D} Circumference k£ (C) Circle /5 (B) Radius riw (A)
U n P B0 SeRE ek s f| (13)

{
{
|
{
t
|
a- |
}rA line which has only one point in common with a circle is called :
( i
1
i
1
'.

s

Cosine of a Circle Cosine ¥ < i (B) Sine of a Circle Sine ¥ <7t (A)
Secant of a Circle Secant ¥ < /i (D) Tangent of a Circle Tangent § < (C)

En LT 0 ufd.r_ UsA s of é._:fidf/gjh‘ I

A pair of chords of a circle subtending two congruent central angles is

Parallel (ii# (D) Overlaping J # (C) Incongruent th/;; (B) Congruent J"l.? (A)

: q.dx.fl.ﬁ'd’d__:udw L s oL
TANN

A py &g &g
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Note : It is compulsory to attempt ( 6-—-6) parts each from Q.No.2,3and 4. Attempt any (03) questions from

Part I1
while Q.No.9 is compulsory, Write same Question No. and its Part No. as given in the question paper.

oy :
36=2x18 (Partl) J;L#r lMake diagram where necessary. 04 ’.zu"'fxd;s/uif,]

I L D T,

T S o

o

T o . o

L LT P d
Solve by Factorization .':ty2 = y(y-5) oS 4 A2 (i) 2/ﬁ‘d'!'i
Define Reciprocal Equation. -u.‘g _g/‘." J il J:“‘ (if) |

e 2x+120 = 0 hq)};‘vruarj o £ s dle (ii)

Find the nature of the Roots of the given equation. 2o 2x + 120 =

Evaluate, W b . 5 _u_'/?ﬂ".;é (iv)
Write the Quadratic Equation having given roots 4,9 -u‘.’ﬁ sl Fanss s 4,9&» éq’,.; )
Define Simultaneous Equations. -u:'f.d/‘? J Ul A (vi)
Define Direct Variation, ) 7§ e i
Find the Fourth Proportional to : 5,8,15 ,.Q'/rﬁl" — U7 (viil)
Find the value of " p" in the continued proportion. 5,p, 45 .g{/?ﬂ".‘:fgf "p "4..-..-4':;})) é_.”:a: (ix)
Define Improper Fraction. LI S ang
Define  Union of Sets. -4 a7 Sy ¥ Ut Gi

-%PBxA.»,rAxB}A-{a,h},B-{c,d} A Gy
If A-{a,b}, B = {c,d} then find A x B and B x A,

Find "a"and "b" if : (a=4, b=-2)= (2,1) /-z,iF}v"b" A% a T ()
Define One- One Function. _cﬁ:.g/"" J Jw'o.--u, (v)
Define Standard Deviation. -c_{_ﬂf J ._if/iLLLv (vi)
Find the Geometric Mean of the observations 2,4,8. _éfr‘!::h" »;U.gflié 2,4,8 =l (viiy
Define Harmonic Mean. _éf:gf- J Jmf_ﬁfr‘? (viil)

LA e § g el in)
110,109, 84, 89,77, 104, 74, 97 , 49, 59, 103 , 62

Find Range for the following Weights of Students :

Express 315° Angle into Radian. gt £ arns® g
Verify the Identity, (tan® + Cot®)tan® = Sec?0 ..g{.-f.e/ =LV i)
What is meant by Right Angle? See e IIT (i
Define Circle. ' _éff.._if/? o2l (iv)
Define Chord of a Circle, h el < 2 Lt )
Define Tangent of a Circle. : Sl UV £ o2t (vi)
What is mcan.t by Segment of a Circle? Teuslpl e 2 7hald (i)
Define Inscribed Circle. _’4’...;.:/' S ostoss® (vil)
Define Perimeter, Sl o bl (ix)
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(4) Solve the given Equation. T3 e (

)—4

@ i Tt
o

If oc B are the roots of the equation 1x2+'mx+ n=
then find the value of -1—2 + _1'2
o P
O] (a,b,c,d,e,f 70
2 2 2
bd b d f2
I %='E=£[a b,c,d,e,f # 0 ) then show that
ac +-€-e--+£§—=fi+_§i +,,§i
bd df f b2 4 fz
3x =11

(4) Resolve into Partial Fractions. 2
(x+ 3)(x + 1)

U{12345673910},A{13579]m
@) (AUB) = An®
¥ u={1,2,3,45,6,7,8,9,10 1}, A

/ / /
then prove that (A UB) = ANB

@ 9,3,8,8,9,8,9,18 _%}"" S " St ()

Find the Standard Deviation " S " 9,3,8,8,9,8,9,18

(4) Prove that : 11-_1-:—::‘% -}—E—SSLI?‘% = 4tan©SecO fé’._v? ) 82y
@) sl d & Lfadtoass ¥ ABC 2LLEIGL () ‘
Inscribe a Circle in an Equilateral Triangle ABC with each side of
length 5cm.
) Lunleisle Srni uxJLa“*}; g9 e b A 9/le

If two chords of a circle are congruent then they will be equidistant from

the centre.

OR W

UL <) X coveL T A_.JUJ.'E'; L )):ﬁ{fjf‘f} J‘-}b(f(

The opposite angles of any Quadrilateral Inscribed in a circle are

supplementary.

1&%=) D)o/

..g,{)v' bl Urd: () 54w

";"2? Uﬂuj.u[. lx2+ mx+n=0(1F0) b B, o("/r" (&)

={1,3,5,7,9),B = {2,3,5.7}

0 (1+0)

)%=—§-=—"'f— S () 64

[

J

)

ISR u o7 (D

B ={2,3,5,7} J (0 14y

é:p'l‘.‘ n

I———— S




